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m dall n Yelis €.)

4./x — 2

o Watch Video Solution



https://dl.doubtnut.com/l/_mKdCmxSvye58
https://dl.doubtnut.com/l/_GZKB917DL1Q5

Y

81. ol il [dgdiell [ds[dd Hodl : (A Hidll di S
a,b,c,d,p,q,r al s [6i[fd 2LoddR AN AHa

m dal n yelis 9.) (ax + b)"(cx + d)™

o Watch Video Solution

Y

82. oilJall [A8iail [dsldd Hndl : (R4 Hidll di S
a,b, c,d,p,q,r vl s [¢i[fd 2oUdR AHJN Vo]
m dall n YRlis €.)

sin(z + a)

° Watch Video Solution



https://dl.doubtnut.com/l/_EIFRSAAvXppB
https://dl.doubtnut.com/l/_5QfrikagLeym

83. oilJall [d¥lell [dsldd Hadl : (A Hidll di S
a,b,c,d,p,q,r dl s [6i[gd 2lodR AN Aa

m dl n YRIis €.) cos ecx cot =

° Watch Video Solution

84. oildail [A8Isll [dsldd Hadl : (A Hidll @i S

a,b,c,d,p,q,r al s [6i[gd 2lodR AN Aa

c_ A COS T
m ddl n YRIIS &9.)

1+ sinx

° Watch Video Solution



https://dl.doubtnut.com/l/_5QfrikagLeym
https://dl.doubtnut.com/l/_3YYzmYZ5oGGL
https://dl.doubtnut.com/l/_K4G4HZWIL9iF

Y

85. oilJall [d8iall [dsldd Hndl : (R4 Hidll di S

a,b,c,d,p,q,r al s [6i[fd 2LoddR AN AHa

c ~ Sinx +cosx
m dil n YRIIS £€9.)

SiInNxL — COS T

o Watch Video Solution

Y

86. oilJall [A8iall [dsdd Hndl : (R4 Hisll dI S

a,b,c,d,p,q,r al s [6i[gd 2loddR YN AHa

secxr — 1

m dall n Yels €.
& ) sect + 1

o Watch Video Solution



https://dl.doubtnut.com/l/_Jcc3DeLGU5n4
https://dl.doubtnut.com/l/_4aaBro9zertR
https://dl.doubtnut.com/l/_AFt0B0EbKKnQ

EN

87. oiloll [dgiall [dsldd Hodi : (] Hidll di S

a,b,c,d,p,q,r al s [6i[fd 2LoddR AN AHa

a+ bsinzx

m dal n Yyells €.
& ) ¢+ dcoszx

° Watch Video Solution

EN

88. oilJoll [d8iall [ds[dd HOdl : (A Midll di S

a,b,c,d,p,q,r al s [6i[gd 2loddR AN AHa

in(x + a)
CoS &

c_~n .S
m ddl n YRIIS 89.)

o Watch Video Solution



https://dl.doubtnut.com/l/_AFt0B0EbKKnQ
https://dl.doubtnut.com/l/_2k6cZGo4sEF7
https://dl.doubtnut.com/l/_eHUJitYD4a5w

EN

89. oilJall [d8iall [dsldd Hndl : (R4 Hisll di S
a,b,c,d,p,q,r ¥al s [6i[%d 2loUdR AHJYN Aal

m dall n Yelis €.) z4(5sinz — 3 cos )

o Watch Video Solution

EN

90. oilJall [dgiall [dsldd Hodl : (4 Hiell di S
a,b,c,d,p,q,r ¥al s [6i[%d 2loUdR AHJYN Aal

m dedln L‘j\eli&% €9.) (ccz + 1) COS T

o Watch Video Solution



https://dl.doubtnut.com/l/_eHUJitYD4a5w
https://dl.doubtnut.com/l/_27neADBPatgk

91. ol [d8diell [dsldd Hodl : (A Hidll di S
a,b,c,d,p,q,r al s [6i[gd 2loddR AN AHa

m d2l n Yelis €.) (az” + sinz)(p + gcos z)

o Watch Video Solution

N\

92. oilJall [A8iall [dsldd Hndl : (R4 Hisll di S
a,b,c,d,p,q,r al s [6i[gd 2LoddR AN AHal

m d2l n Yelis 9.) (z + cos z)(z — tanz)

o Watch Video Solution



https://dl.doubtnut.com/l/_7Ctabs96oxxW
https://dl.doubtnut.com/l/_P8DP3b9dw6K2
https://dl.doubtnut.com/l/_aeJxJzH81sDo

Y

93. oilJall [A8iall [dsldd Hndl : (R4 Hisll di S

a,b,c,d,p,q,r al s [6i[gd 2loddR AN AHa

4r + Ssinx

m d2l n Yelis €.)
3r + Tcoscx

o Watch Video Solution

94. oilJdll [dgiall [dsldd Hodl : (4 Hiell di S

a,b,c,d,p,q,r al s [6i[gd 2LoddR AN AHal

2 0
I COS(4)

sin x

m dal n Yelis ©.)

o Watch Video Solution



https://dl.doubtnut.com/l/_aeJxJzH81sDo
https://dl.doubtnut.com/l/_0mnriMQCiQmS
https://dl.doubtnut.com/l/_fKSUjOB8OGiU

EN

95. oilJoll [d8iall [ds[dd HOdl : (A Hidll di S

a,b,c,d,p,q,r al s [6i[gd 2loddR AN Aa

m dal n YeIis €.
& ) 14+ tanzx

° Watch Video Solution

EN

96. oilJall [A8iall [ds[dd HOdl : (A Hidll di S
a,b,c,d,p,q,r al s [6i[fd 2loddR AN AHa

m dal n Yelis ©.) (z + secz)(z — tanz)

° Watch Video Solution



https://dl.doubtnut.com/l/_fKSUjOB8OGiU
https://dl.doubtnut.com/l/_Vbj3uGmMIXKx
https://dl.doubtnut.com/l/_mErYoiQSHpHE

97. oilJall [A8lell [dsldd Hadl : (A Hidll di S

a,b,c,d,p,q,r 2al s [6i[fd 2LodR AN Aa

m dal n Yelis ©.)

sin” x

0 Watch Video Solution



https://dl.doubtnut.com/l/_mErYoiQSHpHE

